2.1/2.2 Multiplying and Dividing Rational Expressions - Worksheet
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1) State the restrictions for each function.
](7\%\\/%-‘9
2) i\ A b) 7 ) Y, D ey 3 j(/n | )
A . ! ) A I 88 . £ jm‘: i/, S
M R [T
; REIT 11 1A ~f2]-
B: g/_’/;/ X i F~d_[X 117 | ‘J‘r*ﬁ:‘- 'L““E
)"5’ oS | 4 i O - W W T 7 e
WY REEAMME T S HAA
A £ TN
73 YLG Kt-A,-3
K=
2) Simplify each expression and state all restrictions on x.
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3) Simplify and state the restrictions on the variables.
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4) Simplify and state the restrictions on the variable. - d 1');) N 16
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5) Simplify and state the restrictions on the variable.
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6) Simplify and state the restrictions on the variable
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x%+15x+26 = x2-3x-10

c) +

6x2 30x3

- () 5367
7 S
L (%-5)(z54)

d)

oAt %s

X% +11x+24 | x—8
x242x-3  x—1

(¥ XA e 4

ﬁ S 7(;«5)\5{
<

7) Simplify and state the restrictions on the variable
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Answers
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